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2 1,695,844 58,346 1,637,498
| 63,976 63,976 0
Al 553,625 349,626 203,999
2 28,097,496 27,076,528 1,020,968
ZOINK BN AL 4,230,720 3,445,043 785,677
2 {,129 1,129 0
Al 77,229 77,917 688
2 4,152,362 3,365,997 786,365
218 NFEAI| E4 631,221 628, 146 3,075
26t £YB AMTE 52,993 53,118 A125
203 HRF4Hl 2,375 2,500 A125
03 AlZ =T =Y 2,375 2,500 A125
OZFZ o oIAZ2| ABEZ
A 2,500,000 5% 2,375 2,500 A125
IH2Y U oHLH 180,092 176,892 3,200
201 Lty 137,282 132,282 5,000
01 ALR eIt 134,642 129,642 5,000
OPHEE JGB(FZLLLA
2 15,0008 %7007 10,500 7,500 3,000
ORzARY XA 2,000,000% 2,000 0 2,000
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2 15,000,000 %95% 14,250 15,000 AT50
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2 4,000,002 5% 3,800 4,000 A200
ORza 29 2 2,000,0002 5% 1,900 2,000 A100
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2 2,516,436 1,736,325 780, 111
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SN

X{ ZH -
S = -

E=RlL,
FQXR HEX
el FUAXNYE L5

SNBSS - MBAY - BES 0 & 24 pJE-T {imE=Eh
odigae Hf =48 Z& 5,000,000 *95% 4,750 5,000 A 250
OguHFXZA &zt HE 1,000,000 «95% 950 1,000 A50
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Hi&H =& 16,030 15,430 600
405 XtobE SHI 1,600 1,000 600
01 MR ESF=H 1,600 1,000 600

O2Xos FEAAE PCASEHI(USBE) 2L

600,000& 600 0 600
oM B F01 M 2XE s 32,880 27,880 5,000
oidl= sdX& 25,950 20,950 5,000
301 YptEasg 5,000 0 5,000
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HETHE S4 344,124 335,624 8,500
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FHOHS MH X 2,046,872 0 2,046,872
1,637,498 0 1,637,498
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sgogTee 2,046,872 0 2,046,872
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204,687 0 204,687
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11,602 0 11,602
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01 AtR2elt] 14,502 0 14,502
ooIME X S Yerey| 6,802, 0002 6,802 0 6,802
5,442 0 5,442
680 0 680
680 0 680
OsY22 ZXFAG HH2Y
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1,680 0 1,680
210 0 210
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7,0002 *5% %1602 5,600 0 5,600
4,480 0 4,480
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560 0 560
202 01t 6,200 0 16,200
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OHFIXNE=Z Z& 3,300,000 *95% 3,135 3,300 A 165
04 RA2SLRF=LH 4,815 4,680 135
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2 & 7,875,000 7,875 7,308 567
202 O4Hl 110,160 103,680 6,480
01 WY 110,160 103,680 6,480




oF
R”J

ok
ol

=
ok
0

~

R0
30 .
= 0K RO
OF R0 THJ

o B0 ~

= A

2
o T
=

oOlo|loo Ol NMNNININI— < N~ 0O — S O 0O O OO0 0O o O 9 unoAl
| OO O]l | O] © | | — Al O N~ O 0 o — [a) ©
Nl e Y)Y ¥1Y« - N @ - - @ N
20 Ol —|— — || | | |~ — —
Klo
E
=
%00000000000000000000000
[{e}
o
O
al =
R0
m
Ol o |l OIS N~ O & © 0 0 o0 o o o @ 9 uo
O | OO O]l 0| | O | © | — [aN] O N~ O 0n o — (9] ©
— Sl S|S|S|S|S|« - N © = 0= ©
ol —[— —| ||| |~ — —
3
<
=
] o o oW N N N W wowowwww o W
o o o O O O o o o O O O o O (@) o
o (@) D O © O O O o — O O O O (o) (@)
S S N ® 0 S S S S oo o5mwmao =«
mr o o ™ © N~ — N~ N ¥ © Q @ o X =
O o Al © () 0 O ™ ©
0 - S - < - 0 _ @ A
y S = = - Rl @D
A = K =<
%0 nl ~
o - 2 CA
w X
I |® . = m 75 = 9
= |K0 5 - I+ = Y _Samdy o
. S HmJmp2®zms
—~ |= = s Z W 8 2 LR = < = <
= |3 S PormRRE® %Ry
R - & mw =< = W oo &y RWAR =
o | ® ur — T O 1 B A= B
x| T Bl o Of 5 & amw K| Of W 3D <k <F of ®O <
5 |0 = | Ho WM or O F O Of W M Foor 0r DD ROV
al ur o o ~|Kl oFE oF XXX D OO OF @ OF OF OF m/ Kb
S b A ERE no|mo|I 30 30 20 <+ @ oV 4 30 0 30 B0 0 0 =< =~
® = | dl ok Wl w | s Ko T KR - oo KOG oo W N
R0 O ﬂﬂO__% oo O O OO0 OO0 < OO0O0O0O0OO0O0 O
. 0 | — — | R0 | = N
% 2|2 Wi R|K[8]|° S
I+ ol | &
o | ™
=




